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here are 6 (5i) questions. Answer al of them. The symbols have their usual meanings. Marks of
i \ding COand PO are written i sume reas: i

e same theory problem as provided in the payofl table below using linear  (20]
programming methor player A and player B could use three srategics co2
Player B P02

Minor K2

People amive @ @ Railway staton (0 buy ickels according 1 Poisson_distribution. The (5]
e fime fs 5 minutes and thre s only one ticket couter. The Raiiwsy station incharge  CO2,
e eesied in predictng the operating characteisics of this couniet during a typical PO2,
operating day from 10.00 am. to 11.00 am. Describe briefly the procedure of analytical K2
OB e 0 determine the average wating time before service and average time a person
spends in the system.
5 Goads have to be transported from sourees X, Y. and Z 10 destinations A, B and C. The  [25]
Sansportaion. cost per unit, Gapaciies of the sources, and the requirements of the CO2,
estinations are given in the table below. Determine a transporefiot schedule sothatcostis PO2,
e e, Here, for the niia basc feaibl solution use Norh- West Corner Method and K2

ion using UV

then find optimal solution using UV method g degeneracy.

considering degenerac)
G
Destination _—
X 8 516 120 ‘J

3 A salesman must tavel fromcity oty to maintain is accounts. s week he has o leave (25]
e and visit the ities and the reum home. The table shows (he distances (in CO2,
e oo the various cites. His home ciy s city A, Use the assighmete method to PO2.

e the tour that ill minimize the totl disance of visiding 2l ciies and then K2
returning home.
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City/City [ A

EERES

These two criteria are: R:Iubxlny(R), and Maintenance (M). Two generators, one is called
Xand the othris Y, aresugsted by a vendor. The Chiel Engince of the company prefers
R M. Furt X four times
more th 0 M, she w(evs " T dimes moreth . Using Analytical
Hierarchy Process (AHP), determine which truck the engineer should select.

251

02,
PO2,

K2

25)

K2

[
co2,

HPK Compressor Lid ppl f s
month, ion duri i the month. The stock  CO3,
is$ 1 peritem. " per i ity PO3,
onth i i th i Ks
: 3 per item. Find the opnmil pclxcy of pmducnon cons inventory using dynamic
programming so that total cor minimu
No.of
MonthNo. | Month |
1 January 160
250
360
440
1210
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